WARK \2\ — oS @

<, D\sT . WT: PDS
J J

CFT.)
4+ TimE 5(0): 25 L S C\B = T
L:’:.EC-) 0 / )

Sle)=vix) = —lb (1@*3*(‘7*O

Ny =320+ 81 =
%

T

e = mel = glale ™
)

" - ) = L= —_— - = el
() = V) = als) 5150 SN
alo)= —32 Thee S
SEC.
&C\ )-: "BL Jet

= () =~ b 412
Mgl



@

| INSTANTAN EOY

Sl Trnes

Hoe\2oMNTA L ( o~ S

tAkvaERL T PLAUES)
LiklE

P > veeT\cal
A NaeE N
LINE




@ LAl ‘(‘)(7 —+6 DgTEQW\lME Wl
— e %GD/(N e JMCQ/DEQQ _

4________./'_7

;3 cublc ;
(\ﬁ) = \1”{—61% ——BxL_—\Q PO\\X)V\O\M—\@‘

, () =12+4() =3 (J)l—(,l)B
GV 4 —oy -3y (=0) BTN

_________—.-——-—'——'_'___———‘\

-——J CZXL—{- é\fg —:i> = O b(-s) = (z+ﬁ(—3}-3(—3)x
) _ ~()
@(5%&3 J = )= 12 2

A« _bGs) s S
2y-3=0 w3 = ( :
3\;‘1 \ W = =T /.b(‘a)vts/*lsv

CUygen)= Q)= Pt



€




)= =
2_('9___ — A _ 2
@ \C%)i Ou_é— 2 8.5
& o B Do
« TR T
CZ) a ) (+)=0
D A_%HQDQMM

( @ Co) > (o’ )) "g%ﬁém

‘i\w
A fb@




vl 123 — OO0 3

T EsrT ] RBRESUKTS

Ave: 6914



